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ACADEMIA CEIFAS 
 

EJERCICIOS 

DETERMINANTES 4 

 
1.- Catherine moved to Sweden _______ 
working conditions there. 
a) due of 
b) because of.. 
c) in spite 
d) although 
 
2.- He couldn't catch the train ........... running 
along the platform. 
a)  although      b) in spite          
c) despite         d) despite of   
 
3.- Your brother? He's ____stupid boy.  
a) such   b) so  
c) so much   d) such a 
 
4.- Nobody is going to recognize you ________ 
your new look. 
a) because  b) because of 
c) due   d) owing 
 
5.- ____the teachers_____the parents are to 
blame for the accident. 
a) Neither / and 
b) Either / or 
c) Either / none 
d) Neither / none 
 
6.-Mario was unable to ride _____a leg injury. 

a) because 
b) due to 
c) owing 
d) as 

 
7.-It was ____awful weather that we didn´t go to 
the festival.- 

a) such 
b) such a 
c) for 
d) so much 

 
8.- _____ it was raining, he did not take his 
umbrella. 

a) Although 
b) However 
c) But 
d) Despite of 

 
9.- You can ___ eat fish ___ meat. We have 
both. 
a) neither/nor  
b) either/or 
c) both/nor   
d) either/nor 
 

10.- ______windows were wide open. 
a) Neither  
b) Both 
c) Either  
d) None 
 
11.- It was ____expensive present that she 
didn't know what to say! 
a) such a   b) such an 
c) so d)   so much 
 
12.- My uncle didn’t get the job _______ his age. 
a) in spite 
b) because of 
c) due of 
d) although 
 
13.-_____queues at busy times, we recommend 
booking it in advance. 

a) Because to 
b) Owing of 
c) Because 
d) Due to 

 
14.- These shoes are______ comfortable (that) I 
wear them all the time.   
a) so   b) such a 
c) such  d) much 
 
15.- _______my car was stolen, I will have to 
rent a car for the next few days. 
a) Because of  b) Due to 
c) owing to   d) because 
 
16.- She tried on the two skirts but _____ was 
big enough. 
a) either   b) neither 
c) both   d) none 
 
17.- Both were cheap, but I didn't like _____. 
a) neither   b) both 
c) either   d) none 
 
18.- It was ____ good news. 
a) such   b) such a 
c) so    d) so much 
 
19.- She couldn’t walk _______ she had broken 
her leg. 
a)because  b)because of 
c) due to  d) owing to 
 
20.- Maggy was ______nice everybody loved 
her. 
a) so    b) such 
c) so much   d) such a 
 
 
 


